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Time of Pulse with Blanking Interval = 68.537074 mS 
 



 
 

 82 dBV

 72 dBV

 82 dBV

 72 dBV

RF Att  10 dB

 A 

Unit dBV

RBW  100 kHz

VBW  300 kHz

IN1

P0

TDF

 

Max/Ref Lvl

SWT  50 ms

Center 433.8653908 MHz 5 ms/

1VIEW 1AP

  -10

    0

   10

   20

   30

   40

   50

   60

   70

  -18

   82

1
1

Delta 1 [T1]        

           -2.29 dB 
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Date:      8.FEB.2013  14:45:13  
 

Time of One Pulse Train = 41.082164 mS 
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Date:      8.FEB.2013  14:49:38  
 

Time of First Pulse = 2.204409 uS 
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Time of The Large Pulses = 1.503006 mS 
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Delta 1 [T1]        

            0.84 dB 

      801.603206 s 

D1 55.18 dBV

Date:      8.FEB.2013  14:50:36  
 

Time of Small Pulses = 0.801603206 uS 
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Date:      8.FEB.2013  14:51:54  
 

Time of Last Pulse = 2.204409 mS 
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Marker 1 [T1]       

          60.70 dBV

        3.607014 ms 

D1 55.18 dBV

Date:      8.FEB.2013  14:56:30  
 

Minimum Level for On Time = 60.70 dBuV 
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Marker 1 [T1]       

          73.84 dBV

        1.603006 ms 

D1 55.18 dBV

Date:      8.FEB.2013  14:56:08  
 

Maximum Level for On Time = 73.84 dBuV 
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Delta 1 [T1]        

           -2.29 dB 

       41.082164 ms 

D1 55.18 dBV

Date:      8.FEB.2013  14:45:13  
 

First Pulse = 1 *2.204409 mS = 2.204409 mS 
Number of Large Pulses = 9 * 1.503006 mS = 13.527054 mS 

Number of Small Pulses = 12 * 801.603206 uS = 9.619238472 mS 
Last Pulse = 1 * 2.204409 uS = 2.204409 mS 

 
Total Time at 100% Amplitude = 27.555110472 mS 

Total Time of Minimum Amplitude = 13.527053528 mS 
Amplitude Difference between 100% and Minimum Amplitude = 13.14 dB 

Effective On Time of Minimum Amplitude Portion = 2.9799104 mS 
Total Duty Cycle = 30.535020872 mS / 68.537074 mS = 44.55% 

Peak to Average Ratio = -7.02 dB 


